[N of reconstructed tracks vs dR__] N of associated tracks (recoToSim) vs dR |

true tracks

9
=
5]
o
1 . 1 1 ) 1
track min AR track min AR
[N of associated (recoTosim) looper tracks vs dR_|
] 9]
IS IS
= =
£ 2
2
s g10
=
=]
=
ie]
T
o
1 . 1 ) 1
track min AR track min AR
N of reconstructed tracks vs dR(track,jet) | | N of associated tracks (recoToSim) vs dR(track jet) |
%] 19
4 4
[} Q
IS IS
= =
[
=]
£
10°
o o LU
T T
o 14
!
103 1 0. 3 2
10 107 107 107 .
track AR(track, jet track AR(track, jet
[ ot associated (recoTosim) looper tracks vs dR(rackjet) |
%] 4]
4 4
[} | . o
£ £
) )
< | . 2
ke g
a
p=]
L. ©
10°F--
o Lu o
I : T
o 14
- . .
o . Lo e

10° 1072 10 10 102 10
track AR(track, jet? track AR(track, jetg)



	Contents
	Page 1


